
Powers of i - Examples

We saw that powers of i follow the pattern:
im = in if m − n is a multiply of 4.
And also computed:

i1 = i
i2 = −1
i3 = −i
i4 = 1

Using these, we can compute i to any integer power.

For larger powers, it gets harder to figure out how to reduce
It can be helpful to reduce in multiple steps
If we want to do this all in one step, im = ir if r is the remainder when
we divide m by 4
Dividing 522 by 4 we get a remainder r = 2

http://coobermath.com/Review_and_Linear_Equations/Sets/Complex_Numbers/Powers_of_i.pdf
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